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Test One

Paper One (i£%—)
Part 1 Listening Comprehension (20 minutes, 15 points)

Section A

Directions: In this section, you will hear 9 short conversations. At the end of each con-
versation, there will be a question. Both the conversation and the question will be spoken
only once. After each question there will be a pause. During the pause, you must read the
four suggested answers marked A, B, C and D and decide which is the best answer. Then
mark the corresponding letter on the ANSWER SHEET with a single line through the cen-
ter. ’

Example: You will hear;

You will read:
A. At the office.
B. In the waiting room.
C. At the airport.
D. In a restaurant,
Sample Answer FAd [B] [C] [D]

From the conversation we know that the two were talking about some work they have to
finish in the evening. This is most likely to have taken place at the office. Therefore, A.
“At the office. ” is the best answer. You should choose [A] on the ANSWER SHEET and

mark it with a single line through the center.

1. A. The woman can’t take the book out of the reading rbom.
B. The woman could have the book for three hours. -
C. The woman could have the book three hours later.

. D. The woman must return the book after three hours.

2. A. $ 102, B. $§ 70.
C. $ 64. D. $ 8.

3. A. 6 hours. . B. 5 hours.
C. 8 hours. D. 7 hours.

4. A. Her phone wasn’t working.

‘ B. The repairman wasn’t at home.

- C. The repairman’s phone wasn’t working.
D. Her husband was at home.



5. A. He has to write his paper. B. He doesn’t like party.
C. His wife doesn’t want him to. D. He will visit his parent.
6. A. In a restaurant. B. In a cinema.
C. In an auditorium. D. In an office.
7. A. The man is in trouble.
B. The man’s credit card is stolen.
C. The man wonders if he can get a new card.
D. The man doesn’t want to get a new card.
8. A. The man is getting stronger and stronger.
B. The man should avoid straining his back.
C. The man is not strong enough.
D. The man should take back the things he can’t lift.
9. A. She has made a wise decision.
B. She has decided not to buy that house.
C. She wants to take the man’s advice.
D. She probably won’t listen to the man’s advice.
Section B

Directions: In this section, you will hear 2 short passages. At the end of each passage,
you will hear some questions. Both the passage and the questions will be spoken only once.
After you hear one question, you must choose the best answer from four choices marked A,

B, Cand D.- Then mark the corresponding letter on the ANSWER SHEET with a single line
through the center.

Questions 10~12 are based on the following passage.

10. A. Jazz and Broadway musicals.

™

Popular songs and jazz.

Broadway musicals and tBeaters.
“Sound of Music” and “My Fair Lady”.
11. A. Songs sung in theaters.

Blues and ragtime.

The religious and folk music of American blacks.
Broadway musicals in New York City.

12. A. It is told by musicians and jazz lovers.
It is told in various languages.

By people who have not seen the musicals.

COFEPUO®E PO

Partly by dialogue and partly through songs.

Questions 13~ 15 are based on the following passage.
2



13. By train. B. By plane.
By bus. D. By taxi.
14. He doesn’t have a family.

He wants to visit all the cities.

He doesn’t want to stay in the office.
He doesn’t think that travelling is fun.
15. A. Travel as much as before.
Stay in the office.

Travel more than before.

SOEFPTOWP O

Move to New Jersey.
Part I Vocabulary (10 minutes, 10 points)
Section A
Directions: In each item, choose one word that best keeps the meaning of the sentence if
it is substituted for the underlined word. Mark out your choice on the ANSWER SHEET

with a single line through the center:

16. Many new medicines today can eradicate diseases before they become too widespread.

A. wipe out B. wear out
C. identify D. dissolve
17. The amount of water in the river will diminish if the dry season continues.
A. deteriorate B. disappear
C. vanish D. decrease

18. The clumsy workman put his elbow through the window and broke it.

A. gloomy B. awkward
C. sluggish " D. flexible
19. The hot weather withered the grass. |
A. matured B. contracted
C. shriveled D. shrank
20. Mr. Smith and his wife made a deliberate decision to live apart for a while.
A. obvious B. intentional
C. impartial D. delicious

21. The dentist could detect no sign of decay in her teeth.

A. uncover B. invent
C. interpret D. neglect
22. Contestants who do not comply with the regulations will be disqualified.
A. reconcile B. approve
C. observe D. cooperate with



23. When confronted with the evidence of his guilt, he confessed at once.

A. adopted B. adapted
C. accused D. faced
24. The prime minister justified the action of the government.
A. proved important B. proved reasonable
C. proved wrong D. proved efficient

25. The bad-tempered young man can’t stand being kept waiting.

A. endure . B. induce
C. resist D. remain
Section B

Directions: In each question, decide which of the four choices given will most suitably
complete the sentence if inserted at the place marked. Mark out your choice on the AN-
SWER SHEET with a single line through the center.

26. No one is so as the person who has no wish to learn.
A. sensitive . B. arrogant
C. ignorant D. sensible
27. Mr. Johnson is leaving his wife because he cannot her bad temper any longer.
A. put up with B. come up with
C. do away with D. keep up with
28. The road lay ahead of us, a gray line stretching to the horizon.
A. continual B. continuous
C. constant D. prolonged
29. The sports meeting . at last after being twice postponed.
A. came up B. came on
C. went on D. came off
30. We in finishing the journey in spite of the bad weather.
A. insisted B. stuck
C. assisted D. persisted

31. I need to move to a large apartment. Do you know of any ones in the neighbor-

hood?

A. vacate B. vacant
C. empty D. bare
32. In her cheerful and easy-going nature, Lucy her father rather than her mother.
A. takes off B. takes up
C. takes after D. takes over

33. In buying a dress, difference of ten cents in prices is

A. negligible B. neglectful



C. negligent D. negative

34. Will this sweater _ when washed?
A. decrease B. shrink
C. induce D. lessen

35. Although the main characters in the novel are so true to life, they are entirely
A. imaginable B. imaginative

C. imagination D. imaginary
Part 'l Reading Comprehension (50 minutes, 30 points)

Directions: There are 6 passages in this part. Each passage is {ollowed by some ques-
tions or unfinished statements. For each of them there are four choices marked A, B, C and
D. You should decide on the best choice and mark the corresponding letter on the ANSWER
SHEET with a single line through the center.

Questions 36~40 are based on the following passage.

Some of us are lonely individuals. Others of us may feel that no one knows us very well.
We may feel isolated and sense that we do not have anyone we can turn to in times of need or
stress. Robert Weiss (1373) says loneliness comes in two forms: emotional isolation (result-
ing from the loss of an emotional attachment) and social isolation. Either type of loneliness
can make us feel restless and depressed. Weiss also believes that one type of relationship
cannot be substituted for another to diminish the feeling of loneliness. For example, an indi-
" vidual grieving over the loss of a love relationship probably. will remain lonely even though
friendships are present. Divorce or death often produces strong feelings of emotional loneli-
ness. One widow commented that she had the feeling that whole world had just come to an
end and she was all alone.

Individuals who have close emotional attachment may still have feelings of loneliness if
they do not develop friendships and relationships outside of their marriages. One woman
whose husband had taken a new job in another city listened to her husband describe all of the
new friends he was making while she remained at home with the children. She finally con-
vinced him that she would go along with the move only if she agreed that she could pursue a
career outside of her homemaker role. She felt that this would reduce her boredom and in-

crease her social network.

36. It can be inferred from the first paragraph that the phrase “turn to” could best be re-
placed by

A. show mercy to B. seek help from
C. be concerned about D. get rid of
37. According to Robert Weiss,

A. the two types of loneliness never come singly



B. only social isolation can cause people to feel lonely and sad
C. an emotional attachment has to be found for a happy life
D. one type of relationship can never act as another to reduce the feeling of loneliness

38. Judging by what she said at the end of the first paragraph, we can see that the widow

. worried a lot about the end of the world
wanted to put an end to herself when left alone

was greatly affected by the death of her husband

Oo®p»

had made up her mind to live by herself
39. The world “this” in the last sentence of the passage refers to

A. the move B. pursuing a career

C. the homemaker role D. developing friendships
40. It can be inferred from the last paragraph that

A. one never feels lonely among a crowd

B. a married man usually does not have feelings of loneliness

C. all housewives have complaints about their work at home

D. the development of social relations can help to prevent the feeling of loneliness

Questions 41~45 are based on the following passage.

It was not yet eleven o’clock when a boat crossed the river with a single passenger who
had obtained his transportation at that unusual hour by promising an extra fare. While the
youth stood on the landing-place searching in his pockets for money, the ferryman lifted a
lantern, by the aid of which, together with the newly risen moon, he took a very accurate
survey of the stranger’s figure. He was a young man of barely eighteen years, evidently
country bred, and now, as it seemed, on his first visit to the town. He was wearing a rough
gray coat, which was in good shape, but which had'seen many winters before this one. The
garments under his coat were well constructed of leather, and fitted tightly to a pair of mus-
cular legs; his stockings of blue yarn must have been the work of a mother or sister, and on
his head was a three-cornered hat, which in its better days had perhaps sheltered the grayer
head of the lad’s father. In his left hand was a walking stick, and his equipment was com-
pleted by a leather bag not so abundantly stocked as to inconvenience the strong shoulders on
which it hung. Brown, curly hair, well-shaped features, bright, cheerful eyes were nature’s
gifts, and worth all that art could have done for his adornment. The youth, whose name was
Robin, paid the boatman, and then walked forward into the town with a light step, as if he
had not already traveled more than thirty miles that day. As he walked, he surveyed his sur-

roundings as eagerly as if he were entering London or Madrid, instead of the little metropolis

of a New England colony.

41. What time of year was it in this story?

A. spring B. summer
6



C. fall D. winter
42. The boatman was willing to take Robin across the river because
A. he wanted to make extra money
B. he saw that Robin was young and rich
C. he was going to row across the river anyway
D. he felt sorry for him because Robin looked poor
43. The stockings that Robin wore were obviously
A. well worn B. very expensive
C. handmade D. much too big
44. Robin was apparently going to the town
A. to buy new clothes
B. for the first time
C. for the first time in several years
D. on one of his regular trips there
45. How did Robin appear as he walked into town?
A. He was cheerful and excited.
B. He was very tired.
. C. He seemed very sad.
D.

He seemed frightened by this strange surroundings.

Questions 46~ 50 are based on the following passage.

The fridge is considered a necessity. It has been so since the 1960s when packaged food
first appeared with the label: “Store in the refrigerator. ”

In my fridgeleés fifties childhood, I was fed well and healthily. The milkman came dai-
ly, the grocer, the butcher, the baker, and the ice-cream man delivered two or three times a
week. The Sunday meat would last until Wednesday and surplus bread and milk became all
kinds of cakes. Nothing was wasted, and we were never troubled by rotten food. Thirty
years on, food deliveries have ceased, fresh vegetables are almost unobtainable in the coun-
try.

The invention of the fridge contributed comparatively little to the art of food preserva-
tion. A vast way of well-tried techniques already existed—natural cooling, drying, smoking,
salting, sugaring, bottling. .. ‘

What refrigeration did promote was marketing—marketing hardware and electricity,
marketing soft drinks, marketing dead bodies of animals around the globe in search of a good
iprice. ,

Consequently, most of the world’s fridges are to be found, not in the tropics where they
might prove useful, but in the wealthy countries with mild temperatures where they are cli-
matically almost unnecessary. Every winter, millions of fridges hum away continuously, and
at vast expense, busily maintaining an artificially-cooled space inside an artificially-heated

house—while outside, nature provides the desired temperature free of charge.



The fridge’s effect upon the environment has been evident, while its contribution to hu-
man happiness has been insignificant. If you don’t believe me, try it yourself, invest in a
food ‘cabinet and turn off your fridge next winter. You may miss the hamburgers,. but at

least you’ll get rid of that terrible hum.

46. The statement “In my fridgeless fifties childhood, I was fed well and healthily. ” (Para.
2, Line 1) suggests that
A. the author was well-fed and healthy even without a fridge in his fifties
B. the author was not accustomed to use fridges even in his fifties
C. there was no fridge in the author’s home in the 1950s
D. the fridge was in its early stage of development in the 1950s
47. Why does the author say that nothing was wasted before the invention of fridges?
A. People would not buy more food than was necessary.
B. Food was delivered to people two or three times a week.
C. Food was sold fresh and did not get rotten easily.
D. People had effective ways to preserve their food.
48. Who benefited the least from fridge according to the author?
A. Inventors. B. Consumers.
C. Manufacturers. D. Travelling salesman.
49. Which of the following phrases in the fifth paragraph indicates the fridge’s negative ef-
fect on the environment?
A. “Hum away continuously”.
B. “Climatically almost unnecessary”.
C. “Artificially-cooled space”.
D. “With mild temperatures”.
50. What is the author’s overall attitude toward fridges?
A. Neutral. B. Critical.
C. Objective. _ D. Compromising.

Questions 51~55 are based on the following passage.

The term “virus” is derived from the Latin word for poison, or slime. It was originally
applied to the noxious stench emanatiﬁg from swamps that was thought to cause a variety of
diseases in the centuries before microbes were discovered and specifically linked to illness.
But it was not until almost the end of the nineteenth century that a true virus was proven to
be the cause of a disease.

The nature of viruses made them impossible to detect for many years,even after bacteria
had been discovered and studied. Not only are viruses too small to be seen with a light mi-
croscope, they also cannot be detected through their biological activity, except as it occurs in
conjunction with other organisms. In fact, viruses show no traces of biological activity by

themselves. Unlike bacteria, they are not living agents in the strictest sense. Viruses are
8



